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Stack available: FAILED U O O (9.9.0)
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Constraint check for node 0, core O:
Stack available: <00000000, wused: 00000008 . FAILED

Threads available: 8, used: 3 . OKAY
Timers available: 10, used: 2 . OKAY
Chanends available: 32, used: 0 . OKAY
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chan 0 streaming chan (9.9.0 & XS1-L1)
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#include <xsl.h>
#include <platform.h>
#include <print.h>

void produce(streaming chanend c)

Oint i=0 ;
Owhile(2) {
O0c<:i;

O O printintIn(i) ;
O0iu++ ;

0}

(]

void consume(streaming chanend c)

-~

dint i=0 ;
Owhile(1){
O0iu++ ;
0}

-

int main(void)
{

0 streaming chan c ;



par {

0 produce(c) ;
0 consume(c) ;
}

r

eturn 0;
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Oproducel cOOOOOODOOOOOO

¢ <: (unsigned char) i ;
0 2013/1 (unsigned) OO (unsigned char) OO0
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Programming XC on XMOS Devices (2009/09/24 0 YO O O O

C.4 Channel Communication
On some revisions of the XS1 architecture, it is not possible to input

data of size less than 32 bits from a streaming channel in the guard
of a select statement.
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[O0 ]http://www.xmoslinkers.org/forum/viewtopic.phpX=6& t=617

void consume( streaming chanend c )

unsigned v;
const unsigned ready = Oxff;


http://www.xmoslinkers.org/forum/viewtopic.php?f=6&t=617

while (1)
{
c <: ready; //ready to receive more

c > v; // get data now
delay(100); // sample processing delay

}

void produce( streaming chanend c )
unsigned v = 100;

while(1)

select

case c :> int:
C <Iv;
printstrin(*'Send");
break;

default:
/* put into buffer */
printstrin("buffer™);
break;
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}

xflashOOOOOoooooood (9.9.1)
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portDeclsXC_a04656:32: error: use of “deviceSpecs” violates parallel usage rules
portDeclsXC_a04656:28: error: previously used here (bytes 0..420)
portDeclsXC_a04656:28: error: previously used here (bytes 0..420)

Error: F03010 Failed to compile flasher app.
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000000000000 set_port pull_ up) 000000

On XS1-L devices no pull-up resistors are available
and an exception will be raised if
set_port_pull_up() is called.

0doLO0O0 cGOOoOOoOoooooooooooooooooooDoooooDoDoOoDoOonn
set port pull down) OO O OO0

On XS1-G devices no pull-down resistors arel]
available and an exception will be raised if
set_port_pull_down() 1is called.
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